thyristors > 80 Arms A

L 2
thyristors 2 80 Aeff THOMSON-CSF
Tamb = 25°C
Types | VRRM | | *| IRM @ VRRm | VGaT IGT Vim / ltm dv/de* Case
° = ‘il;lsr':nns Ipm @ VDRM @ 60%
VDRM Tj = 125°C VDRM
max max max max min
(A) v) (A) (mA) V) (mA) (\)] (A) (V/us)

80 Arms / Tcage = 80°C Tj = 125°C Pt = 5000 A’ s

TKE 801 100
TKE 802 200 .
150 1,8 200 200
TKE 804 50 400 1000 10 35
TKE 806 600
120 Arms / Tgage = 90°C Tj = 125°C |2 t=11250 A’s TO 49
TKE 1201 100 -
TKE 1202 200 ¥ 1/2" - 20 UNF—Type number
1 5 150 1,8 500 200 ype numbe
TKE 1204 76 400 1500 0 3 + suffix K

TKE 1206 600 ] M 12 —»Type number

+ suffix M

120 Arms / Tcase = 80°C Tj = 125°C 't = 9800 A’s

TK 1201 100

TK 1202 200

TK 1204 400

TK 1206 ~ 600

TK 1208 76 800 | 1400 10 3 125 2 150 200
TK 1210 1000

TK 1212 1200

TK 1214 1400

TK 1216 1600

150 Arms / Tcage = 80°C Tj = 125°C 1t = 15300 A’s

TK 1401 100 |

TK 1402 200

TK 1404 400

TK 1406 600

TK 1408 95 800 1750 10 3 125 2 300 200
TK 1410 1000

TK 1412 ~ 1200

TK 1414 1400

TK 1416 1600}

1/2"" - 20 UNF —+=Type number
+ suffix K

180 Arms / Tcase = 80°C Tj = 125°C It = 20000 A’s

M 12 -=Type number
+ suffix M

TK 1801 100

TK 1802 200
TK 1804 400

TK 1806 600

TK 1808 114 800 2000 10 3 125 16 300 200
TK 1810 1000°

TK 1812 1200

TK 1814 21400

*@T; = 125°C

186



